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QLITNRDENERMET 7Y (SH3EE~ST6EE) OBZEELHER B
2024/8/8
EH, FEARICOVWTERERLETHELE  TWLWB LR EREDEIE 7. 128, 3B : FHICIEOAE (%)
R4 R5 R6
68 7TH 12B 3AH 7TH 12B 3AH 7TH 12H 3AH
LERDZHBRHEETZ v OBIEE (F3) 88.0 95.0
SRBHTHES 2T LER (BR - 53) 88.5 86.5 89.8
AR BIZEE (21F) 88.0 92.0 95.0
AROFER (21F) 86.2:89.0:91.5:91.7|87.9:89.2 : 82.2| 89.7
ARDER (F1) - i = — — | 84.6:86.4 : 86.4| 85.3
EROER (52) — — - — [96.9:89.5:75.9( 88.6
AROER (=3) 79.6:813:822: — |844:i917: — |947
IR D BB DR EICOVWTER ZEFOEES
R4 R5 R6
68 7B 128 38 | 7R 128 3A | 7B 12AR
LERDOZABRMEETZ > DBEIEE (F3) 60.0 70.0
SRBHILITHES X T LER (BR - 53) 55.7 57.5 58.7
AROEBEEE (21F) 60.0 65.0 70.0
AROFER (21F) 40.6:52.2:785:82.1|629:585 :76.7|53.4
AROER (&) —  — { — ! — |56.4:455:81.8]|29.4
EROER (52) — — — — [625:55.3:69.0|61.4
AROFER (F3) 55.1:56.3:57.8: — |689:729: — |[65.8
RPET, #HNMCELNELTELED P OMET 2EFEDOEE
R4 R5 R6
68 7B 128 3B | 7R 12B 3A | 7B 12AR
LERDZAHBRMEET S D BIEE (F3) 78.0 80.0
SRBHILTHES X T LR (BR - 53) 73.9 73.9 76.1
RO BIEE (£4F) 78.0 79.0 80.0
AROIER (21F) 65.9: 76.5: 73.1:72.6|69.8:64.6 : 69.9]62.1
FROBER (B —  — ¢ —  — [769:625 727529
AROER (=2) — i — 1 — ¢ — |563:50.0:655]|659
AROER (&3) 65.3:70.8:689: — |733i75.0: — |65.8
BETEK - BOEB > RBICOWT, BENICREAYET > EROES (%)
R4 R5 R6
6H 7B 128 3AH 7B 128 3AH 7B 12A 3AH
LERDZHBRMEET S D BIEE (F3) 65.0 70.0
ERBHILTHES X T LR (BR - 53) 56.8 61.0 70.1
(BREDEDKE., REFZTOFRE., #HiFICAHIFEDOFKE) DOFFMEEE 65.0 67.0 70.0
AROIER (21F) 50.0: 60.3: 68.3:70.2|66.4: 64.6: 72.6| 69.8
AROFER (&) — i —  — ¢ — |615:59.1:659]559
AROER (=2) — i — i — ¢ — |656:63.2:828]|705
AROER (F3) 58.3:583:600: — |71.1:70.8: — |81.6 —




